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��������� Laplace

��� �����	


� ����������	��
� Fourier ��
�	 ����	�� �������� ���
 �
����� ������
 ��	 ���������
�

����
 
��� �� ���� ��
 ���	 ����������	��
 Fourier, �
�� ������	 ��
������ �
�������� 
�	

�	� 
� �������	 � ����������	��
� Fourier �� ���� �����	 
� ��
�	 �������� ������� �	��!

���� 
� ��
�	 ���� �
����	��� "����� 
�	 �	� �� ������ u(t) ��	 sgn(t) ��# � ��	 �	� �	�

���	��	��� ��
������	� � ����������	��
� Fourier ��
 �������� ����#����! ���� ����
#���

����������	��
� Fourier �� ����� ��
	�����
�
 ��
�������
� �"��	 ��������	 ������� �

�
���� 
� ������#�� � ����������	��
� Laplace, � ������ �������	 �	� �� ����
�$��#�
��

�������

�	� 
� �%��#�� � ����������	��
� Laplace �	������	 ���� ��� ���������� ��� ��	����

��� ����������	���� Fourier �
�� ������
���
�� ��#��	�
� ������
��� e−σt �� σ > 0 �

������ ���������	�����	 �� �� ���� x(t)! ���	  ��� �� ��������
 ���� x(t) e−σt 
� �	�#���	

��� � ��	���
� ����������	��
 Fourier. &���� ��	�����
���	 �
∫ ∞

−∞
|x(t) e−σt| dt =

∫ ∞

−∞
|x(t)| e−σt dt <∞. '(�)*

+���������� 
�	 �� ��
	�����
� ���������� ���
 '(�)* ��
�	 $�����
� �	� x(t) = u(t)!

x(t) = tu(t)! ���	������� ���� 
��� �� ���� t ��� ��
�	 ����
 �	� t < 0 ���� �	� ��%�

��
�

��#��	�� ������! �
�� ��� ��������� ��� ������
�� �����	��� e−σt� � ����������	��
�

Fourier ��� �������	���
�� ������� ��
���	 ��
 ��


F
{

e−σt x(t)

}
=

∫ ∞

−∞
x(t) e−σt e−jωt dt =

∫ ∞

−∞
x(t) e−(σ+jω)t dt = X1(σ + jω) '(�,*

)



, �� ��������	�
� �
���������
����


��� � '(�,* �������� 
�	 �� ���������� ��
�	 ��
������ ��� σ + jω� -� ������� � �� ��


�
������$� ����������	��
 Fourier ��� X1(σ + jω)

x(t)e−σt =
1

2π

∫ ∞

−∞
X1(σ + jω) ejωt dω ⇒ x(t) =

1

2π

∫ ∞

−∞
X1(σ + jω) e(σ+jω)t dω. '(�.*

/������ s = σ + jω� 0 ��������� s ������	 �������� �	
��
�
� (complex frequency).

&
�� � �	��� �����	��� ��
��
���
����� Laplace �������	 ��

X(s)
�
=

∫ ∞

−∞
x(t) e−st dt. '(�1*

��
	�� #� ������	 �	� ���	��� �	� 
 ��� σ = Re{s} ��	 �����
�� �	� ���	��� ��� s ��� �	��2

�	�
 ������� �	� ��
 ����� � X(s) ������	� � ��
��
����� �����	��� ��
��
���
�����

Laplace �

x(t)
�
=

1

2πj

∫ σ+j∞

σ−j∞
X(s) est ds. '(�3*

� �
������$�� ����������	��
� Laplace �����������	 �� ���������� ��� �	���	�
 �������

��
� �� �	� ����	� (contour) ��������� ���� ��
 jω �%�
� ��	 ��	���
� �	� ��#� �	�� ��� σ

����	�  ��� X(s) = X(σ + jω) 
� ������
�	� � �
����	�
� ������	��
� ��� ������� �����

��� ��
	�� ��������� �	� ���	������� X(s) ���	��� �� ����� ��	������	�
 ������������


��� �	���	�
 ��������

4� ������ �����	��� �$������� ��� �
�	�$���	 � �������	��� ��
��
���
����� La-

place ��� 	����	 �	� ������ x(t) ��� �����
��	 �

� �� #��	���� ��

���! ������ x(t) = 0

�	� t < 05

X (s) = UL{x(t)} �
=

∫ ∞

0−
x(t) e−st dt '(�(*


��� �� ���������� ���	�����
�	 ���� ������	���� ������� � �	� �
 ����� ��
������	�

(singularities) �
 ����� ��%��� �	� t = 0� "�
�	 $�
��
 
�	 � ��

������� ����������	��
�

Laplace ���	 	�	������ �%�� �	� ��
 �
����� �	�	�� 
 ���������
 ��	 	�	������ ���������


��� �����	�����
��	 ��
 �����	��� �	�$��	��� �%	� ��	� �� ���#����� ��
�������� ��	 ���

��������� ���	��� ��
#����� � �������	�
� �
��
 ���� �
������ ��
 �� 6�$���	� . 
�	

����	� ��������� ��
 ��
�	 �����	��! ���� ���	��	�� � �����	��� -�
 ��
 �%����� ��	����

��� ��

������� ����������	���� Laplace ����������� 
�	 � �

� �	�$��� ����	��	 ���

���� 
�	� ������������ 4�
�� � ��� ������ ��� �	�$����
 �	� t < 0! ���� ��
�	 ����
����

��������� 	
����
	��� �������� ����� ����� �� ��������� ������� �������� ����� ����� ��� ���
	�����

������ 
 �������� ������������ ��� �������
� 	
�����	���



�� ��������	�
� �
���������
���� .

�	� t ≥ 0 #� ����
 �	�$����	���� ���������� ����������	����� Laplace, ���� ����
������

��

�������� ����������	����� Laplace. �	� ������ ��� ��
�	 ������	�� ����
 �	� t < 0!

� ��

������� ��	 � ��������� ����������	��
� Laplace �������
��	� 0 ������ ��� #� ��	2

��
���#�� ��� �������� ����������	��
 Laplace. ����� ���	�����	 #� ��
���� ��
 �
������

�	���	�� ����%� ��������� ��	 ��

������� ����������	�����

4��
��� ����$������� ���
 ������	��
 ��� ����������	���� Laplace ��	 �
������$��

����������	���� Laplace �� �� ����� ��
 �%	� ���
 ��	����� +���	����� �� ����� �	
���


��	 ��
 �%	������� ��
 	�	�����
 ��� ����������	�����

• &� ����
�������� ��� ����������	���� Laplace �
�
�	 ��� ����������	���� Fourier

��
�	 �� �%��5

– 0 ������� ������	���� ��� ����������	���� Laplace.

– � ����������	��
� Laplace �
����� 
�	 �	� ���	��� ��
#���� ���
 ������� ��


�����	� 
 �	�$��	� 
 �%	� ���
 ��	 ���������	 �	� �����	��� �	�$��	��� �%	� ��	�

�� ������	����

– � ����������	��
� Laplace ������	 �����$����� �	� �	� 	�	
����� �

� ��7�-�

�����������

– �������	 ����������	��
� Laplace ��	 �	� ������ ��� ��
 ��
�	 �������� ������2

� �	���

• � ����������	��
� Fourier ����	����	����	 ��	� �����	��	
�
���! �� $�����! ����������

������ 
� ��
���� �� �� $�����

• � ����������	��
� Laplace ����	����	����	 ��� #����� ���������
 ��	 ��� ���������

��������� ��������

• � ����������	��
� Fourier, �$
��
 �������	! ������ 
� ������	���� ����#���� �
 �
�2

������� ��
 ����������	��
 Laplace.

8	� �

�	� ��� ���	 	�	������ ������� ��� ������ ��� ����������	���� Laplace ��
�	 � ���

���
� ��������� (region of covergence, ROC). 9� ���	��� �����	��� ��� ����������	����

Laplace �������	 �� �	������ �	� 
 ��� s = σ + jω �	� �	� ������ � ����������	��
� Fourier

��� ������� x(t) e−σt ������
�	� -
 �	� �
� ���� �� ���������� ��	���� ��� ����������	2

���� Laplace ������	 �	� �	� �	�� s0 = σ0 + jω0! �
�� ������	 ∀s5 Re{s} > σ0�



1 �� ��������	�
� �
���������
����

���������� �� � �"��� x(t) = e−at u(t)! a > 0� "$���
��
��� ��
 �%����� ��	���� �	�

s = σ + jω ����
����

X(σ + jω) =

∫ ∞

0−
e−at e−st dt =

∫ ∞

0−
e−(s+a)t dt =

=

∫ ∞

0−
e−(σ+a)t e−jωt dt =

1

(σ + a) + jω
, σ + a > 0

=
1

s + a
, Re{s} > −a. '(�:*

"�
�	 ���$�
�� 
�	 � ���	��� �����	��� ��� ����������	���� Laplace '(�:* ��
�	 Re{s} > −a�

0 ���	��� �����	��� ����
���	 ��������	�� ��� 4���� (�)� "��	�� � jω �%�
�� '������! �

σ+a>0 Im{s}=ω

−a

ROC

Re{s}=σ

4���� (�)5 +��	��� �����	��� ��� ����������	���� Laplace ��� ������� x(t) = e−atu(t)!

a > 0�

��#��� Re{s} = 0* �����	 �
�
� ��� ���	���� �����	���! � ����������	��
� Fourier ������	

��	 ��������	 ��
 ��
 '(�:* �
 �
�	������������ 
��� s = jω! ������

X(jω) = X(σ + jω)
∣∣∣
σ=0

=
1

jω + a
. '(�;*

� ����������	��
� Laplace ��
�	 ��
������ �	���	��� ���������� ��� �����
�	 �	���	���

�	���� �"��	 �� ����� ��	 � $��� ��� ����������	���� Laplace ��
�	 ���
 ����� �	��	�������

��
������	�! 
��� $��
���	 ��� 4���� (�,�

<�
 �� ������ ��� +������������ (�) ��
������ 
�	 � ����%� ��� ������� ����� ���


'(�1* ��
�	 �������
� �
 �� ���� x(t) 	��
���	�� �	� ��
���#�� ������ ��
#����5

)� �� x(t) ��
�	 ������� �	�� �� ��#� ���������
� �	������ �	� 
 ��� t ���
 ���	���

−∞ < t < +∞ ��	



�� ��������	�
� �
���������
���� 3

σω

|X(s)| (dB)

2)
2=�3

=
=�3

)

21

2,
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,

1
2,=

2)=

=

)=

,=

.=

1=

ω
|X

(s
)|
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B

)

|X(s)|! |X(jω)| (dB)

|X(jω)|

2. 2, 2) = ) , .
2,=

2)=

=
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.=

1=

'�* '�*

σω

∠X(s)/π
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2=�3

=
=�3

)

21

2,

=

,

1
2=�3

=

=�3

jω

∠X
(s

)/
π

∠X(s)/π! ∠X(jω)/π

∠X(jω)

2. 2, 2) = ) , .
2=�3

2=�1

2=�.

2=�,

2=�)

=

=�)

=�,

=�.

=�1

=�3

'�* '�*

4���� (�,5 8���������	��
� Laplace X(s) = 1
s + 1 5 '�* 8���� ��� ����������	���� La-

place. '�* +��������� ��� ��	��	������� ���$������ '�* ��
 ��
 ��
��	�
 ��	�%�
� ��
 σ�

<�����#���	 �� ����� ��� ����������	���� Fourier. '�* >��� ��� ����������	���� Lapla-

ce. '�* +��������� ��� ��	��	������� ���$������ '�* ��
 ��
 ��
��	�
 ��	�%�
� ��
 σ�

<�����#���	 � $��� ��� ����������	���� Fourier.



( �� ��������	�
� �
���������
����

,� �� x(t) ��
�	 ����
���� 
�!�� ��# � t ���
�	 ��� ±∞! ������ limt→±∞ |x(t)|e−σt = 0

�	� ����	� ���	��� �	� 
 ��� σ�

�	 ��
#���� ��� ����
�$��#���
 ��
�	 	��
��! ���� �
� ���������" ���	�� �������
 ������

x(t) ��� ��
 �	� 	��
���	��
! ���� �	�#����
 ����������	��
 Laplace. 0 ���	��� �����	���

��� ����������	���� Laplace ��
�	 �	� ������ ��� �	���	�
 �������� +������	? �	�������
���

�� ���������� ��	���� ��� ����������	���� Laplace '(�1* �� ��
��	�� ��	 #��	�� ���
	��

�	��������

X(s) =

∫ 0

−∞
x(t) e−st dt +

∫ +∞

0

x(t) e−st dt '(�@*

����������� 
�	 �	� 
� ������	 �� �� �� ���������� ���
 '(�@* �	� �� ��	�
���� ��
���

��	���� x(t) = eαt! 
��
 t < 0 ��	 α ∈ R! �����	 σ = Re{s} < α� ��
��� �� �� ��

���������� �
������	 ��∫ 0

−∞
eα t e−s t dt =

∫ 0

−∞
e(α− s) t dt =

∫ ∞

0

e−(α− s) ξ dξ '(�)=*

��� 
��� ��#������	 ���$�
�� 
�	 �����	 α − σ > 0 �	� 
� ������	� ������ �	� 
� ������	

�� ������� ���������� ���
 '(�@* �	� �� ��	�
���� ��
��� ��	���� x(t) = eβt �	� t > 0 ��	

β ∈ R �����	 σ = Re{s} > β� � ����������	��
� Laplace #� ������	 ���� �
 α > β�

��
	�� � ���	��� �����	��� #� ��
�	 �	� �
�	��� ���	��� ��� s�

"$�%�� � ����������	��
� Fourier, 
��
 �������	! #� ���	���
���	 �� X(jω) �
�� X(ω)

�	� 
� ��
���� ��$�
�� 
�	 ��������	 ��
 �� ����������	��
 Laplace �
�	��#	�� 
���


��� s �� jω� ��
	�� �
 �� ���� x(t) ��
�	 �����	�
� ��
�����
� �������	� 
 � �	���	� 


��#��	� 
! �
�� � ����������	��
� Laplace ��
�	 ���� ��
������

X(s) =
N(s)

D(s)
. '(�))*

4��
 ��������� ����! �	 ����� ��� �����
���� ��� ��	#���� N(s) �
�����
��	 ��������

(zeros), �
 �	 ����� ��� �����
���� ��� ����
������ �
�����
��	 ����� (poles). +�����2

����� 
�	 ��� ����
	�� ����
�����	 �
�� ���
� ����������	��
� Laplace, �
 ����� �
����

�
�� ���
� ����������	��
� Laplace ���	������	�

-� ���#������ 
�	 �
�� ���
� ����������	��
� Laplace �
������	 ��

X(s) =
N(s)

D(s)
=

a0 + a1s + . . . + aMsM

b0 + b1s + . . . + bNsN
=

∏M
i=1(s− zi)∏N
i=1(s− pi)

. '(�),*

4A �
� ���
 ����������	��
 Laplace � ��	#�
� ��
 ����
	� 
 zi �����	 
� 	�����	 �� ��


��	#�
 ��
 �
��
 pi� &���� ��
�	 ���$�
�� �
 ���
 '(�),* M = N ! ��
�� 
��	 �	 �
��	



�� ��������	�
� �
���������
���� :

��	 �� ����
	�� ��
�	 ��������� -
 M < N ! �
�� ������
 ����
	��� 4��
 ��������� ����

����#������ N −M ����� �������� ��� ���	��! ���	��

X(s) =
1

sN−M

aM + aM−1s
−1 + . . . + a0s

−M

bN + bN−1s
−1 + . . . + b0s

−N
'(�).*

��	 lims→∞ X(s) = 0� -
 M > N ! �
�� ������
 �
��	� 4��
 ��������� ���� ����#������

M −N �����	� ����	� ��� ���	��! ���	�� lims→∞ X(s) =∞�

���������� ��#� �"��� �� ����

x(t) = e−tu(t) + e−2tu(t). '(�)1*

� ����������	��
� Laplace ��� ������� x(t) ��
�	

X(s) =
1

s + 1︸ ︷︷ ︸
Re{s}>−1

+
1

s + 2︸ ︷︷ ︸
Re{s}>−2

ROC5 Re{s} > −1 '(�)3*


��� �	� ��
 �� �� ������
�� ��� �#��������� ���
 X(s) ������ ROC5 Re{s} > −1! �
 

�	� ��
 ������� ������
�� ������ ROC5 Re{s} > −2? ��
�� ���	�� ��������	 
�	 � ���	���

�����	��� ��� �#��������� ��
 ��	������ ����������	�� 
 Laplace #� ��
�	 � ���� ��


��	������ ROC! ������ Re{s} > −1�

6�
�
��� ���%�	� ���
 '(�)3* ����
����5

X(s) =
(s + 2) + (s + 1)

(s + 1)(s + 2)
=

2s + 3

(s + 1)(s + 2)
, Re{s} > −1. '(�)(*

�-�� � X(s) ���	 �
� ��
���� ����
	�
 �	� s = −3
2
! �
� ����� ����
	�
 �	� s = ∞ ��	 ���

��
������ �
���� �	� s = −1 ��	 s = −2! �
�	�������� &� ��������� ���$���������%�

����	�����	 ��� 4���� (�.�

���������� ��&� �"��� �� ����

x(t) = δ(t)− 4

3
e−tu(t) +

1

3
e2tu(t). '(�):*

&
��5

δ(t)
L←→

∫ +∞

−∞
δ(t) e−st dt = 1 '(�);*

X(s) = 1− 4

3

1

s + 1
+

1

3

1

s− 2
=

(s− 1)2

(s + 1)(s− 2)
, Re{s} > 2. '(�)@*

B��� 
�	 � X(s) ��� ��
���	 ��
 ��
 '(�)@* ���	 �	��
 ����
	�
 �	� s = 1 ��	 ������ �
����

�	� s = −1 ��	 s = 2� &� �	������� �
��
2����
	� 
 ����	�����	 ��� 4���� (�1�



; �� ��������	�
� �
���������
����

��+ +

ω

−2 −1− 3
2

σ

4���� (�.5 C	������� �
��
2����
	� 
 ��� ����������	���� Laplace ��� ������� x(t) =

e−tu(t) + e−2tu(t).

++

ω

2−1 1

σ

4���� (�15 C	������� �
��
2����
	� 
 ��� ����������	���� Laplace ��� ������� x(t) =

δ(t)− 4
3
e−tu(t) + 1

3
e2tu(t)�

��� �
����� ��������
 ��� �
������������� Laplace

0 ����������
� #� ���� ��� ����������	���� Laplace ��� ����
�� ���� 
�� ��������

����� 
�� ����'����� �����
���� X(s)" ���� ��� 
�� ������ 
�� �
�
�(������

�����
�� ����������

• )���
�
�  � 0 ���	��� �����	��� ����������	 ��
 �$����� 
�	 s��������	 ��	 �����

���������� ���� 
�� jω �!���� C�����! � ���	��� �����	��� ��� ����������	����

Laplace ��� x(t) ����������	 ��
 ����
�� �	� �	��� ��� s �	� �	� ������ �� x(t)e−σt ��
�	

�������� ������� �	��5 ∫ ∞

−∞
|x(t)| e−σt dt <∞. '(�,=*

• )���
�
� #� �	� ������ ����������	����� Laplace � ���	��� �����	��� ��� �����
��

����	��



�� ��������	�
� �
���������
���� @

• )���
�
� &� -
 �� ���� x(t) ��
�	 ���������
�� �	����	�� ��	 �������� ������� �	��!

�
�� � ���	��� �����	��� �����
���	 �A ��
����� �� s2��������

-�
 ��
 ��	��� ��� �� ���
	�
 �	������ ��� ����� �� x(t) ��
 ����
�����	 ��
�	 ������2

���
�! �
 �� ���������	������ �A �
� ��#��	�
 
�� e−σt! � ��
������ ��� ��������	

������
�	 ������� �	�� ���
 ��	� ���	��� �� �� x(t)� -
 ��	�

∫ T2

T1

|x(t)| dt <∞ '(�,)*

�
��! �	� 
� ��
�	 �� s = σ + jω ���� ���
 ���	��� �����	��� ���	����� 
�	 �� x(t)e−σt


� ��
�	 �������� ������� �	��! ������∫ T2

T1

|x(t)| e−σt dt <∞. '(�,,*

C	����
���� �	� �%�� ���	�� ��	�5

– -
 σ = Re{s} = 0! �� ���������� '(�,,* ��
�	 $�����
� �
�� ��� '(�,)*�

– -
 σ > 0! ���	�� ∫ T2

T1

|x(t)| e−σt dt < e−σT1

∫ T2

T1

|x(t)| dt '(�,.*

��
������ 
�	 �� ��%� ����� ��� '(�,.* ��
�	 $�����
�! ��� ��	 �� ��	����
 #� ��
�	

$�����
�! ��
�� � ���	��� �����	��� ��
�	 Re{s} > 0�

– -
 σ < 0! ���	�� ∫ T2

T1

|x(t)|e−σtdt < e−σT2

∫ T2

T1

|x(t)|dt '(�,1*

��
������ 
�	 �� ��%� ����� ��� '(�,1* ��
�	 $�����
�! ��� ��	 �� ��	����
 #� ��
�	

$�����
�! ��
�� � ���	��� �����	��� ��
�	 Re{s} < 0�

4�
�� � � ���	��� �����	��� ��
�	 
�� �� s−��������

���������� ��*� �"���

x(t) =

{
e−at, �
 0 < t < T

0, ������
'(�,3*

&
��

X(s) =

∫ T

0

e−at e−st dt =
1

s + a

[
1− e−(s+a)T

]
. '(�,(*



)= �� ��������	�
� �
���������
����

4��$�
� �� ��
 D�	
���� .! � ���	��� �����	��� ��
�	 
�� �� s2�������� "��	�� �

��	#����� ��	 � ����
������� ��� ��������� ����
���
��	 �	� s = −a! �� −a ��� ��
�	

�
��� ��� X(s)� -��
 ������ 
� ��	�#�� �$���
��
��� ��
 ��


� L’ Hospital

lim
s→−a

X(s) = lim
s→−a

[ d
ds

(1− e−(s+a)T )
d
ds

(s + a)

]
. '(�,:*

+���������� 
�	 ��
 ������	 �
��� �	� s = −a! ���	�� �� 
�	� ��
�	

X(−a) = T. '(�,;*

• )���
�
� *� -
 �� ���� x(t) ��
�	 ��!��� ���	���! ������ x(t) = 0 �	� t < T1! ��	

�
 � ��#��� Re{s} = σ0 �����	 ���
 ���	��� �����	��� ��� X(s)! �
�� 
��� �	 �	��� ���

s �	� �	� ������ Re{s} > σ0 �
����
 ���
 ���	��� �����	����

-
 σ0 �
���	 ���
 ���	��� �����	���! �
��∫ +∞

−∞
|x(t)|e−σ0t dt <∞. '(�,@*

"��	�� �� ���� x(t) ��
�	 ��%	�� �������! 	����	∫ +∞

T1

|x(t)| e−σ0t dt <∞. '(�.=*

-
 σ1 > σ0! �
��∫ +∞

T1

|x(t)| e−σ1t dt =

∫ +∞

T1

|x(t)| e−(σ1−σ0)t e−σ0t dt ≤ e−(σ1−σ0)T1

∫ ∞

T1

|x(t)| e−σ0t dt <∞
'(�.)*

��
�� σ1 ∈ ROC� B��� 
�	 � ���	��� �����	��� ��
�	 �
� ��!� ����������� �-����

����
���#� ��� 	�	
����� ����� ��
�	 
�	 � ���	��� �����	��� �

� ��

������� ����2

������	���� Laplace ��
�	 ��%� ��	��������

• )���
�
� +� -
 �� ���� x(t) ��
�	 ����
���� ���	���! ������ x(t) = 0 �	� t > T2!

��	 � ��#��� Re{s} = σ0 �����	 ���
 ���	��� �����	��� ��� X(s)! �
�� 
��� �	 �	��� ���

s ��� ��
�	 ����	��  ��� Re{s} < σ0 �
����
 ���
 ���	��� �����	���� �	� �� ������

��	������ �������! � ���	��� �����	��� ��
�	 ����
��� �����������

• )���
�
� �� -
 �� ���� x(t) ��
�	 �������	��! ������ �$������	 �	� ∀t! ��	 � ��2
#��� Re{s} = σ0 �����	 ���
 ���	��� �����	��� ��� X(s)! �
�� � ���	��� �����	���

�����������	 ��
 �	� �$���� �
� s�������� ��� ���	�����
�	 ��
 ��#��� Re{s} = σ0�



�� ��������	�
� �
���������
���� ))

• )���
�
� ,� -
 � ����������	��
� Laplace X(s) ��� ������� x(t) ��
�	 ���� ��
��2

����! �
�� � ���	��� �����	��� $�������	 ��
 ���� �
���� � �����
���	 ��� ���	���

"�	����
 � ���	��� �����	��� ��� ���	���	 ��
�
� �
�� ��� X(s)�

• )���
�
� -� -
 � ����������	��
� Laplace X(s) ��� ������� x(t) ��
�	 ���� ��2


������! 
��
 �� ���� x(t) ��
�	 ��%	�� �������! �
�� � ���	��� �����	��� �����
���	

��%	
���� ��� �	� ��%	�� �
���? �
 
��
 �� x(t) ��
�	 ��	������ �������! �
�� � ���	���

�����	��� �����
���	 ��	����
���� ��� �	� ��	������ �
����

��� ���������	
 ��� �������	��� �
�������������

Laplace

����� ������ �� ���������� ��� �
�	���
$�� ����������	���� Laplace ���
 '(�3* �����	 
�

������	���� ��
� �� �	� ����	� ���� ���
 ���	��� �����	���� -
 �� ���������� ������	����

��
� �� �	� ����	� ���������� ���
� ��� ���	���� �����	��� � ��
��	�
���� ��� �������

x(t)
L←→ X(s) #� ��������$��� -�
�� ��	 �
 � X(s) �������	 ���������� ��� s2�������

���
� ��
 �
�
 ��	#�
 ����
���
�
 �
 ����
 ������
! � X(s) ��
�	 � ����������	��
�

Laplace ��� ������� x(t) �

� �	� �	� �	��� ��� s ��� ���
��	 ���� ���
 ���	��� �����	����

-%���	 
� ����	�#�� 
�	 �	� �� ��
��
� ������! �	 �����	� ��� ������
 �
� ������ ��2

��������	���� Laplace ��
�	 ��
��	��� ��
 � ���
 �	� �������� (null) ��
������ ν(t)!

������

X(s)
L−1←→ x(t)± ν(t) '(�.,*


��� ∫ t

0

ν(ξ) dξ = 0, ∀t. '(�..*

9� ����
	�� ��
������ �������� ��#� ��
������ ��� ��
�	 ��
��� ����
 ���
� ��
 �
� �2

�	#���	�� ��
��� ������
! 
��� ���	 ���������
�� �	���� 4�������
���� 
�	 � �
������$��

����������	��
� Laplace ��
 ��
�	 ��
�����
�� ��	���
��! �	��� �� ������ ��� ����� ���

��

�� ������
 
� �	�$����
 ���� �	� ����
	�� ��
������� �	� ������	���! ��� ����	�



), �� ��������	�
� �
���������
����

������ ��
�	 ��

x1(t) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

1 �
 t > 0

0.5 �
 t = 0

0 �
 t < 0

��	 x2(t) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

1 �
 t > 0

1 �
 t = 0

0 �
 t < 0

'(�.1*

��� ����
 ��
 ��	� ����������	��
 Laplace X(s) = 1
s � +��$�
 � � �	�$��� ����%� ��


x1(t) ��	 x2(t) ��
�	 ����	��
�� �	 ����
	��� ��
������	� ��
�	 �����
��� ���
 �$������

��� ����������	���� Laplace. -
 � �
������$�� ����������	��
� Laplace ��
�	 ��
����

��
������ ��� ��

��! �
�� ������	 ��
�����
�� �
�	���	����

�	� ��
 ������	��
 ��� �
������$�� ����������	���� Laplace ��
 #� ������#������

��
 �%����� ��	����� �	� ����������	����� Laplace ��� ��
�	 ����� ��
������	� ��� s! �

������	��
� ��� �
�	���
$�� ����������	���� ������ 
� ��
�	 �� ����� ��� �
����%�� ��

���	�� ��������! ������ ��� ��������� �	�� ����� ������	��� ��$����� �� �#��	��� ���	� 


��������
 '
��
 �	��
����� ��%��*! ��� �����#��� ��
 ��
 Heaviside. �"���

X(s) =
N(s)

D(s)
'(�.3*


��� �� ���� 
��� ��� ����
������ ������
����	����	 �� �%��

D(s) =
n∏

i=1

(s− αi). '(�.(*

C	����
���� �	� �%�� ���	�� ��	�5

)� .� ��������'�������� ��������� ���� /������������� ������
���� �����0

�"��� �
�� �����	�
� 
��� s− α1 �
��

X(s) =
N(s)

D(s)
=

N(s)

(s− α1)D1(s)
=

A

s− α1

+
N1(s)

D1(s)
'(�.:*


���

A =
(s− α1)N(s)

D(s)

∣∣∣
s=α1

=
N(α1)

D1(α1)
. '(�.;*

-
 ���
�������� ��
 ��	� �	��	����� �	� 
���� ���� �����	���� 
���� ����
����

Ai =
(s− αi)N(s)

D(s)

∣∣∣
s=αi

. '(�.@*



�� ��������	�
� �
���������
���� ).

,� 1�������'�������� ��������� ���� (s−αi)
k ��� k ≥ 2 /��������� ������
����

�����0

�"��� �
�� �
��� ��� α1 �� �������
���� k! (s− α1)
k� 6�
���� ��
 ��������

X(s) =
N(s)

D(s)
=

N(s)

(s− α1)k
=

A11

s− α1

+
A12

(s− α1)2
+ . . . +

A1k

(s− α1)k
. '(�1=*

-
 ���������	������ ��$
���� �� ���� ��� '(�1=* �� (s− α1)
k ����
����

(s− α1)
k N(s)

D(s)
= A11(s− α1)

k−1 + A12(s− α1)
k−2 + . . . + A1k. '(�1)*

<��������
��� ��
 �	�� ��� ����
����� '(�1)* �	� s = α1 ��������	

A1k = (s− α1)
k N(s)

D(s)

∣∣∣
s=α1

'(�1,*

�
 �
 �	�$�������� ��
 '(�1)* ��	 ������������ ��
 �	�� ��� ����� ��� �	� s = α1

#� �����E�	

A1 k−1 =
d

ds

[
(s− α1)

k N(s)

D(s)

]∣∣∣
s=α1

'(�1.*

��	 ��
	����
��� ���� ��
 k − l �	�$�����	� #� ������

A1l =
1

(k − l)!

[
dk−l

dsk−l

[
(s− α1)

k N(s)

D(s)

]]∣∣∣
s=α1

l = 1, 2, . . . , k − 1. '(�11*

0 '(�11* ��
	������	 �	� ��#� ���
������

��
� �����	�
 
���

.� .�������� �����

�	 �	���	��� �
��	 ��$�
���
��	 �� ������ �����! ��
�� �
 �����
������� �� �
�����	2

�� ��
 
���! ��������	

(s + α + jω0)(s + α− jω0) = (s + α)2 + ω2
0 '(�13*

��
�� ���
 �
����%� �� ���	�� �������� #� ��$�
	���� 
��� ��� ���$��

A1s + A2

(s + α)2 + ω2
0

'(�1(*

��	 �	� ��
 �
�	����$� ��� 
��� ����� ����	����	��
��	 �	 �����	�

s + α

(s + α)2 + ω2
0

, Re{s} > −α
L−1←→ e−αt cos ω0t u(t) '(�1:*

ω0

(s + α)2 + ω2
0

, Re{s} > −α
L−1←→ e−αt sin ω0t u(t). '(�1;*



)1 �� ��������	�
� �
���������
����

1� ��������� 
�
���$����� �������
��

4��
 ��������� ���� ��
���� ��
 ��������

A

(s2 + α)k
≡ A1s + B1

s2 + α
+

A2s + B2

(s2 + α)2
+ . . . +

Aks + Bk

(s2 + α)k
'(�1@*

��	 ��
 �� �� ����
����� ��� ���� 
��� �%	� 
���� ���� ��
�������� ��
 	���
 ��
�2

���
 ��� s�

�"��� X(s) ��
 ���	 ���������� �
���� ��	 � ��%� ��� ��	#���� N(s) ��
�	 �����
���

��
 ���� ��� ����
������ D(s)! �
��

X(s) =
N(s)

D(s)
=

m∑
i=1

Ai

s + αi

. '(�3=*

0 ���	��� �����	��� ��� X(s) ������ 
� �%��#�� ��
 �	� ���	���� �����	��� ��
 ��	������


��
� <������
 ��� ��
��
����� �	� ��
 �
������$� ����������	��
 Laplace:

• ROC ��%	� ��� �
��� s = −αi! ��
��

Ai

s + αi

L−1←→ Ai e−αit u(t) '(�3)*

• ROC ��	����� ��� �
��� s = −αi! ��
��

Ai

s + αi

L−1←→ −Ai e−αit u(−t). '(�3,*

���������� ��+� -� ����������� ��
 �
�	����$� �	�$���
 ����������	�� 
 Laplace.

'�*

X(s) =
1

(s + 1)(s + 2)
, Re{s} > −1. '(�3.*

-
����
��� �� �#��	��� ���	� 
 ��������
 ����
����

X(s) =
1

(s + 1)(s + 2)
=

A

s + 1
+

B

s + 2
'(�31*


���

A =
[
(s + 1)X(s)

]
s=−1

=
1

s + 2

∣∣∣
s=−1

= 1 '(�33*

B =
[
(s + 2)X(s)

]
s=−2

=
1

s + 1

∣∣∣
s=−2

= −1. '(�3(*



�� ��������	�
� �
���������
���� )3

�-��

X(s) =
1

s + 1
− 1

s + 2
, Re{s} > −1. '(�3:*

4�
�� � �����	 
� ������� �� ROC ��#� 
��� � ���	��� R1(R2) ���	  ��� R1 ∩R2 
�

	�����	 �� �� �����
� ROC = {s : Re{s} > −1}� -����5 R1 = {s : Re{s} > −1} ��	
R2 = {s : Re{s} > −2}! ��
��

x(t) = e−tu(t)− e−2tu(t). '(�3;*

'�*

X(s) =
1

(s + 1)(s + 2)
, Re{s} < −2. '(�3@*

-���� R1 = {s : Re{s} < −1} ��	 R2 = {s : Re{s} < −2}! ��
��

x(t) = −e−tu(−t) + e−2tu(−t). '(�(=*

'�*

X(s) =
1

(s + 1)(s + 2)
, −2 < Re{s} < −1. '(�()*

-���� R1 = {s : Re{s} < −1} ��	 R2 = {s : Re{s} > −2}! ��
��

x(t) = −e−tu(−t)− e−2tu(t). '(�(,*

��� � �	���

 ��� �
������������� Laplace

4��
 �

���� ���� �%�������� �	� 	�	
����� ��� '���������* ����������	���� Laplace. +�2

�������! 
��� �������
 �	�$�����	���	�! ����#������ �	� �
�����	��� 	�	
����� �	� �� ��

2

������ ����������	��
 Laplace. 4A 
��� �	� ����� ���	�� ��	�! �	 	�	
����� ��� ���������

����������	���� Laplace 	�����
 ��	 �	� �� ��

������� 4�� ����� ��� �

����� �����

������#�
��	 ��
���� �� ��������	��	�� ����� ��������
 ����������	�� 
 Laplace '+�
�2

��� (�)*! 	�	�����
 ��� ��������� ����������	���� Laplace '+�
���� (�,* ��	 	�	�����
 ���

��

������� ����������	���� Laplace '+�
���� (�.*�

����� �����	
� 	�	
����

-
 x(t)
L←→ X(s) �� ROC5 R1 ��	 g(t)

L←→ G(s) �� ROC5 R2! �
��

ax(t) + bg(t)
L←→ aX(s) + bG(s), ROC5 ���	���	 ��
 R1 ∩R2� '(�(.*



)( �� ��������	�
� �
���������
����

0 ���	��� �����	��� ������ 
� ��
�	 ��������! 
��
 �
��� ���� �%������� 
���	 �
�� �
���

��
 �
� ����
	�
! 
��� ��� +�����	��� (�(�

���������� ���� F� ������	���� � ����������	��
� Laplace ��� ������� x(t) = x1(t) −
x2(t) 
��


x1(t)
L←→ 1

s + 1
, Re{s} > −1 '(�(1*

x2(t)
L←→ 1

(s + 1)(s + 2)
, Re{s} > −1. '(�(3*

"$���
��
��� �� �����	�� 	�	
���� ��������	

x(t)
L←→ X(s) = X1(s)−X2(s) =

1

s + 1
− 1

(s + 1)(s + 2)

=
(s + 2)− 1

(s + 1)(s + 2)
=

1

s + 2
'(�((*

�� ���	��� �����	��� Re{s} > −2�

����� �����
�	�� ��� ��
��

-
 x(t)
L←→ X(s) �� ROC5 R! �
��

x(t− t0)
L←→ e−st0 X(s), ROC5 R. '(�(:*

0 ���	��� �����	��� ������
�	 ��	��

����� ����	
� 
�	��
���

-
 x(t)
L←→ X(s) �� ROC5 R! �
��

x(at)
L←→ 1

|a| X(
s

a
), ROC5 R

a . '(�(;*

0 ���	��� �����	��� ���
 '(�(;* ����
�����	 �� �%��5 -
 R ��
�	 � ��������	����
� ���	���

��� 4������� (�3'�*! �
�� � 
�� ���	��� �����	��� R
a #� ��
�	 � ������ ����%� ��
 r2

a ��	

r1
a ��� 4������� (�3'�*! � ����� �	� a > 1 #� ��
�	 ���

���� ��� ���	���! �
 �	� 0 < a < 1

#� ��
�	 ��������� +��$�
 � �	� a < 0 #� �
�����$�� � �	���%� ��
 r2 ��	 r1�

4�� ��

������ ����������	��
 Laplace � �������	�� ���#��� ��	������� a �����	 
�

��
�	 #��	��! ������ a > 0�



�� ��������	�
� �
���������
���� ):

r2 r1

Im{s}

Re{s}
r2
a

r1
a

Im{s}

Re{s}

'�* '�*

4���� (�35 '�* -��	�� ���	��� �����	��� ROC5 R� '�* +��	��� �����	��� ���� �� ���
	��

��	������ �	� a > 1! ROC5 R
a �

����� �������	�� ��� ��
��

-
 x(t) ��
�	 ���������	�� ��	 ��#��	��� ��%�� ��# � t → ±∞ ��	 x(t)
L←→ X(s) ��

ROC5 R! �
��
dx(t)

dt

L←→ s X(s), ROC5 ���	���	 ��
 R� '(�(@*

-�
��	%�5

L
{

dx(t)

dt

}
=

∫ +∞

−∞

dx(t)

dt
e−st dt = x(t) e−st

∣∣∣+∞

−∞
+ s

∫ +∞

−∞
x(t)e−st dt

= lim
t→+∞

[
x(t)e−st

]
− lim

t→−∞

[
x(t)e−st

]
+ sX(s) = sX(s) '(�:=*

���	�� � �� ��� ��	 �������� 
��	 ���
 '(�:=* ��
�	 ����
	��� 
��
 x(t) ��
�	 ��#��	��� ��%��

�	� t→ ±∞�
+���������� 
�	 �	� x(t) = u(t)! � ����������	��
� Laplace ��� �����	��� ��
�������

���A �$������ ��� �%������ ��	���� ��������	 ��

X(s) =
1

s
, Re{s} > 0. '(�:)*

"��	��
du(t)
dt

= δ(t)! �$���
��
��� ��
 '(�(@* ����
����

δ(t)
L←→ 1 ROC5 
�� �� s2�������� '(�:,*

�	� �� ��

������ ����������	��
 Laplace � '(�(@* �	�$�����	����	 ��

dx(t)

dt

UL←→ sX (s)− x(0−), ROC5 ���	���	 ��
 R '(�:.*



); �� ��������	�
� �
���������
����


��� X (s) ��
�	 � ��

������� ����������	��
� Laplace ��� ������� x(t) ��	 x(0−) ��
�	 �

�	�� ��� x(t) �	� t = 0−� +������	? � �������� 
��� ���
 '(�:=* �������	����	 ��

lim
t→0−

[
x(t)e−st

]
= x(0−). '(�:1*

�	� �	�	���� ��
������	� x(0−) = 0�

0 '(�:.* ��
	������	 ��

UL
{

dnx(t)

dt

}
= snX (s)− sn−1x(0−)− sn−2x(1)(0−)− . . .− x(n−1)(0−) '(�:3*


��� x(n)(0−) ��
�	 �	 �	��� ��� n2���� ����� ��� ��� 0−�

���� �������	�� ��� s! ��"����

C	�$�����
��� ��$
���� �� ���� ��� '(�1* �� ���� s

dX(s)

ds
=

∫ +∞

−∞
(−t) x(t) e−st dt '(�:(*

��
�� ��
������ 
�	 �
 x(t)
L←→ X(s) �� ROC5 R! �
��

−t x(t)
L←→ dX(s)

ds
, ROC5 R. '(�::*

����� #��
������ ���� ��
��

-
 x(t)
L←→ X(s) �� ROC5 R! �
��

L
[ ∫ t

−∞
x(λ) dλ

]
=

1

s
X(s), ROC5 ���	���	 ��
 R ∩ {Re{s} > 0}� '(�:;*

4�� ��

������ ����������	��
 Laplace �������
 ��� ���������� ��� 	�	
����� �����5

UL
[ ∫ t

0−
x(λ)dλ

]
=

1

s
X (s), ROC5 ���	���	 ��
 R ∩ {Re{s} > 0} '(�:@*

UL
[ ∫ t

−∞
x(λ)dλ

]
=

1

s
X (s) +

1

s

∫ 0−

−∞
x(λ)dλ, ROC5 ���	���	 ��
 R ∩ {Re{s} > 0}�

'(�;=*

-�
��	%� '(�;=*5

�"��� g(t) =
∫ t

−∞ x(λ)dλ� &
��

g(t) =

∫ 0−

−∞
x(λ) dλ︸ ︷︷ ︸

g(0−)

+

∫ t

0−
x(λ) dλ = g(0−) +

∫ t

0−
x(λ) dλ. '(�;)*



�� ��������	�
� �
���������
���� )@

-���
dg(t)
dt

= x(t)! ��
��

UL
{

dg(t)

dt

}
= UL

{
x(t)

}
⇔ '(�;,*

sG(s)− g(0−) = X (s)⇔
G(s) =

1

s
X (s) +

1

s
g(0−). '(�;.*

����$ �����
�	�� ��� s!��"����

-
 x(t)
L←→ X(s) �� ROC5 R! �
��

es0t x(t)
L←→ X(s− s0), ROC5 R + Re{s0} '(�;1*

ejω0t x(t)
L←→ X(s− jω0), ROC5 R. '(�;3*

����% &'�(�	)� �*� �������

-
 x(t)
L←→ X(s) �� ROC5 R1 ��	 g(t)

L←→ G(s) �� ROC5 R2! �
��

(x ∗ g)(t)
L←→ X(s) G(s), ROC5 ���	���	 ��
 R1 ∩R2� '(�;(*

-�
��	%�5

L
{

(x ∗ g)(t)

}
=

∫ ∞

−∞

[ ∫ ∞

−∞
x(λ)g(t− λ)dλ

]
e−stdt =

=

∫ ∞

−∞
x(λ)e−sλdλ

∫ ∞

−∞
g(t− λ)e−s(t−λ)dλ =

= X(s) G(s). '(�;:*

����+ ,������ ���	
�- 
�	 ���	
�- �	��-

<�
 �	� ��
#���� 
�	 x(t) = 0 �	� t < 0 ��	 x(t) ��
 ���	���	 ������	���� ������� � �
�������

�
 ����� ��%�� �	� t = 0! 	����	 �� ��%���� ��
���� 
����

lim
t→0+

x(t) = lim
s→∞

sX(s) '(�;;*

��	 �� ��%���� 
������ 
����

lim
t→∞

x(t) = lim
s→0

sX(s). '(�;@*



,= �� ��������	�
� �
���������
����

-�
��	%�5 "��	�� x(t) = 0 �	� t < 0! ������ x(t) = x(t)u(t)� -
 �
����%���� �� x(t) ����

Taylor ���� �� 0+ ����
����

x(t) =
[
x(0+) + x(1)(0+)t + . . . + x(n)(0+)

tn

n!
+ . . .

]
u(t) '(�@=*


��� x(n)(0+) ��
�	 � �	�� ��� n2���� ����� ��� �	� t = 0+� -��� ��
 ��
 +�
��� (�)

����
����

x(n)(0+)
( tn

n!

)
u(t)

L←→ x(n)(0+)

sn+1
, Re{s} > 0. '(�@)*

<��������
��� �� ����������	��
 Laplace ��$�����
 ��
 ����� 
 ��� '(�@=* ��������	

X(s) =
∞∑

n=0

x(n)(0+)

sn+1
'(�@,*

��
��

sX(s) = x(0)(0+) +
x(1)(0+)

s
+ . . . '(�@.*

��� ������� 
�	 ��
 ��
��	%� ��� #��������� ��� ���	��� �	���! �
 ������� �� 
�	� �	�

s→∞�
"��	�� x(t) = 0 �	� t < 0 ����
���� �� ��

������ ����������	��
 Laplace2 �	� 
�

������	������� ��	 ���

 ��2����
	��� ���	��� ��
#����! ��
��

UL
{dx(t)

dt

}
= sX(s)− x(0−). '(�@1*

-
 ������� �� 
�	� ��$�����
 ��
 ��� 
 ��� '(�@1* �	� s→ 0 ��������	

lim
s→0

∫ ∞

0−

dx(t)

dt
e−stdt = lim

s→0
sX(s)− x(0−)⇔

lim
t→∞

x(t)− x(0−) = lim
s→0

sX(s)− x(0−) '(�@3*

��� ������� 
�	 ��
 ��
��	%� ��� #��������� ��� ���	��� �	����

&� #� ���� ��� ���	��� �	��� ����	����	����	 �	� ��
 ������ ��� �	��� �

� �������

��� �

	�� ��������� '	��������*� &� #� ���� ��� ���	��� �	��� ��� 	����	 
��
 � sX(s)

���	 �
���� ��� ��%� ��	������� � ���
 $�
����	�
 �%�
�� "�
 �������
 �
��	 ��� ��%�

��	�������! ����� �
�	���	���
 �� ��%�

��
� ��#��	�� ������ ��� ����� ��� ��

�� ��


�����
 �� 
�	� �	� t→∞ ��
 ������	� 4��
 ��������� ��� �������
 �
��	 ���
 jω �%�
�!

����� �
�	���	���
 �� ��#��� �����
� ��	 �� 
�	� �	� t→∞ �����
��	 �� ����� ��� #������

��
 ��
	�����
�
 ��
�������
�

2X(s) = X (s).



�� ��������	�
� �
���������
���� ,)

�����. ���
���'��- ����������	��
- Laplace ��	!���	��	
�� �'!

���������

C�
 �	���� �	� ������ � ���	��	�� ������! ���� �	� ��
������	� ��� ��
�	 GG���	��	���AA �	�

#��	���� ��

���� �"��� �� ���� ��� �� ��� ���	
���

xT (t) =

{
x(t), �
 0 ≤ t ≤ T

0, �����
'(�@(*

�
�� �
� ��	2���	��	�
 ���� x(t) ������ 
� ��$������ ��


x(t) = xT (t) + xT (t− T ) + xT (t− 2T ) + . . . =
∞∑

k=0

xT (t− kT ). '(�@:*

-
 xT (t)
UL←→ XT (s)! �
��

xT (t− kT )
UL←→ XT (s) e−k T s. '(�@;*

��
��

X (s) = UL
{ ∞∑

k=0

xT (t− kT )

}
=

∞∑
k=0

UL
{

xT (t− kT )

}

=
∞∑

k=0

XT (s) e−kTs = XT (s)
∞∑

k=0

e−kT s = XT (s)
1

1− e−s T
. '(�@@*

"����
��

x(t)
UL←→ XT (s)

1

1− e−s T
. '(�)==*

���������� ��,� F� �����	��	���� � ����������	��
� Laplace ��
 u(t) ��	 cos ω0t u(t)�

+���������� 
�	 ��	 �� ��� ������ ��
�	 ��%	�� �������� "��	�� �	� t < 0 ����
���
��	!

� ��������� ��	 � ��

������� ����������	��
� Laplace �������
��	� � ����������	��
�

Laplace ��� u(t) ��
�	

L
{

u(t)
}

=

∫ ∞

0

e−st dt =
e−st

−s

∣∣∣∞
0

=
1

s
, Re{s} > 0. '(�)=)*

�	� �� ���� cos ω0t u(t) ������

L
{

cos ω0t u(t)
}

= L
{1

2
ejω0tu(t) +

1

2
e−jω0tu(t)

}
=

1

2
(

1

s− jω0

+
1

s + jω0

) =
s

s2 + ω2
0

, Re{s} > 0. '(�)=,*



,, �� ��������	�
� �
���������
����

+�
���� (�)5 C�������	 ����������	���� Laplace ���	� 
 ������
�

4��� 8���������	��
� +��	���

Laplace �����	���

δ(t) ) ���� �� s−�������
δ(t− T ) e−sT ���� �� s−�������
u(t) 1

s Re{s} > 0

−u(−t) 1
s Re{s} < 0

tn−1

(n− 1)!
u(t) 1

sn Re{s} > 0

− tn−1

(n− 1)!
u(−t) 1

sn Re{s} < 0

e−atu(t) 1
s + a Re{s} > −a

−e−atu(−t) 1
s + a Re{s} < −a

tn−1

(n− 1)!
e−atu(t) 1

(s + a)n Re{s} > −a

− tn−1

(n− 1)!
e−atu(−t) 1

(s + a)n Re{s} < −a

[cos ω0t]u(t) s
s2 + ω2

0

Re{s} > 0

[sin ω0t]u(t) ω0

s2 + ω2
0

Re{s} > 0

[e−at cos ω0t]u(t) s + a
(s + a)2 + ω2

0

Re{s} > −a

[e−at sin ω0t]u(t) ω0

(s + a)2 + ω2
0

Re{s} > −a



�� ��������	�
� �
���������
���� ,.

+�
���� (�,5 D�	
����� ��� ��������� ����������	���� Laplace.

8���������	��
� +��	���

D�	
���� 4��� Laplace �����	���

x(t) X(s) R1

g(t) G(s) R2

�����	�
���� ax(t) + bg(t) aX(s) + bG(s) &�����	��� R1 ∩R2

8����
�	�� ���

��

�

x(t− t0) e−st0 X(s) R1

8����
�	�� ���

s−�������
es0t x(t) X(s− s0)

8������	���
� R1

-
 s ∈ R1 �
�� s− s0 ∈ R1

6�	������ ���

��

�

x(at) 1
|a|X(s

a)
6�	������
� R1

-
 s ∈ R1 �
��
s
a ∈ R1

4������ x∗(t) X∗(s∗) R1

4�
��	%� (x ∗ g)(t) X(s) G(s) &�����	��� R1 ∩R2

+���� �	�� ���

��

�

d
dt

x(t) sX(s) &�����	��� R1

+���� �	�� ���

s2�������

−tx(t) d
ds

X(s) R1

����������

��� ��

�

∫ t

−∞ x(τ) dτ 1
sX(s)

&�����	���

R1 ∩ {Re{s} > 0}
/�������� ���	��� ��	 ���	��� �	���

-
 x(t) = 0 �	� t < 0 ��	 x(t) ��
 ���	���	 ������	���� ������� �

�
������� �
 ����� ��%�� �	� t = 0! �
��

x(0+) = lims→∞ sX(s)

limt→∞ x(t) = lims→0 sX(s)



,1 �� ��������	�
� �
���������
����

+�
���� (�.5 D�	
����� ��� ��

������� ����������	���� Laplace.

D�	
���� 4��� 8�

�������

����������	��
� Laplace +��	��� �����	���

x(t) X (s) Re{s} > σ1

g(t) G(s) Re{s} > σ2

�����	�
���� ax(t) + bg(t) aX (s) + bG(s) Re{s} > max(σ1, σ2)

+���� �	�� x(n)(t) snX (s) − sn−1x(0) −
sn−2x(1)(0)−. . .−x(n−1)(0)

Re{s} > σ1

����������
∫ t

0− x(λ) dλ 1
sX (s) Re{s} > max(0, σ1)

+��������	���
�

��� t

tx(t) − d
ds
X (s) Re{s} > σ1

C	������ �	� t
x(t)
t

∫ ∞
s
X (ξ) dξ Re{s} > σ1

8����
�	�� ���

��

�

x(t− t0)u(t− t0) e−st0 X (s) Re{s} > σ1

8����
�	�� ���

s2 �������

e−at x(t) X (s + a) Re{s} > σ1 + Re{a}

6�	������ x(at)! a ∈ R! a > 0 1
aX (s

a) Re{s} > aσ1

4�
��	%� ��� ��
2


�

(x ∗ g)(t) X (s)G(s) Re{s} > max(σ1, σ2)

+��������	���
�

��� ��

�

x(t)g(t) 1
2πj

∫ c+j∞
c−j∞ X (z)G(s−z) dz

Re{s} > σ1 + σ2

σ1 < c < Re{s} − σ2

/�������� ���	��� ��	 ���	��� �	���

-
 x(t) ��
 ���	���	 ������	���� ������� � � �
������� �
 ����� ��%�� �	� t = 0!

�
��

x(0+) = lims→∞ sX (s)

limt→∞ x(t) = lims→0 sX (s)



�� ��������	�
� �
���������
���� ,3

���������� ��-� F� ������	���� � �
������$�� ����������	��
� Laplace ���

X(s) =
1

s2 , Re{s} > 0. '(�)=.*

-�
 ��
 	�	
���� ��� ����������	���� Laplace ��� ������� ����� ����
����

1

s2
=

1

s

1

s
=

1

s
X(s) '(�)=1*


���

X(s) =
1

s

L−1←→ u(t) '(�)=3*

���

L−1
{ 1

s2

}
=

∫ t

−∞
u(λ)dλ =

∫ t

0

dλ = t u(t). '(�)=(*

4�
�� �

tu(t)
L←→ 1

s2
, Re{s} > 0. '(�)=:*

���������� ��2� F� ������	���� � ��

������� ����������	��
� Laplace ��� ����� ���

��� ������� cos ω0t u(t)�

"$���
��
��� ��
 	�	
���� ��� �	�$
�	���

UL
{ d

dt
cos ω0t u(t)

}
= sX (s)− x(0−) '(�)=;*

-��� �	� x(t) = cos ω0t u(t) � ��

������� ��	 ��������� ����������	��
� Laplace �������2


��	! ��
�� ��
 ��
 +�
��� (�) ��������	

X (s) = X(s) =
s

s2 + ω2
0

, Re{s} > 0. '(�)=@*

"��	�� x(0−) = u(0−) = 0! ���	� � ����
����

UL
{ d

dt
cos ω0t u(t)

}
=

s2

s2 + ω2
0

, Re{s} > 0. '(�))=*

+���������� 
�	 ��	 � ��������� ����������	��
� Laplace #� �������� ��� ��	� �����������

���������� �� 3� F� ������	���� � ����������	��
� Laplace ��� ������� e−tu(t)∗e−tu(t)�

"$���
��
��� ��
 	�	
���� ��� ��
��	%�� ����
����

L
{

e−t u(t) ∗ e−t u(t)
}

= L
{

e−tu(t)
}
· L

{
e−tu(t)

}
=

1

(s + 1)2
, Re{s} > −1. '(�)))*



,( �� ��������	�
� �
���������
����

������ &�(�� ����������	���� Laplace 
�	 Fourier

�	� 
� ������	 � ����������	��
� Fourier, ����� � jω �%�
�� '������! � ��#��� Re{s} = 0*


� �
���	 ���
 ���	��� �����	��� ��� ����������	���� Laplace. &���� 	����
���� �� ��


�������� 
��	 �	 �
��	 ��
�	 ��� ��	����
 s2��	������� � ��
� ���
 jω �%�
��

• -
 �	 �
��	 �����
��	 ��� ��	����
 s2��	�������! � ����������	��
� Fourier ��������	

��
�
��� ��
 �
�	���������5

X(ω) = X(s)
∣∣∣
s=jω

. '(�)),*

• -
 �������
 �
��	 ��
� ���
 jω �%�
�! �
�� �� ���� x(t) ��� ����� ��� ��

�� ���	���	

��
��	��
��	���� 
����! ��
��5

– +����	�������� �� x(t) �� �
�	����$� ��� ����������	���� Laplace.

– <����������� �� ����������	��
 Fourier ��� �
�	���	��� ��� x(t) ��� ���#���

���������
���

��! "�#���� ��� �����������	
 �������$� �������
%

�#&���'� ������#�'� ����������$���
 �� �
��%

���������	 Laplace

4�� 6�$���	� 1 ������ 
�	 � ��
��	�� �

� �����	��� ���
������������ ���������� '��7�-�*

�� ������	�� ��
��	�� h(t) �A �
� �	���	�
 ��#��	�
 ��� ���$�� est ��
�	

y(t) = H(s) est '(�)).*


���

H(s) =

∫ ∞

−∞
h(t) e−st dt. '(�))1*

+���������� 
�	 �	� s = jω � '(�))1* �
�	���	��� ��� ����������	��
 Fourier ��� h(t)!

�$
��
 ������	! ������ ���
 ��
��	�� ���

����� ��� ����������! �
 �	� s ∈ C ��������	

� ����������	��
� Laplace ��� h(t)! ��� �
�$�����	 �� �	���
��� �	�
���
�� (system

function) � �	���
��� ��
������ (transfer function).



�� ��������	�
� �
���������
���� ,:

� ����������	��
� Laplace ������ 
� �%	���	�#�� ���
 �
����� ��	 �� ��������	��
 ��


��7�-� ���������
� +������	? ��
 ��
 	�	
���� ��� ��
��	%�� ��������	 
�	 � ����������	2

��
� Laplace ��� ��
��	��� �

� ��7�-� ���������� ��
�	

Y (s) = H(s) X(s) '(�))3*


��� X(s) � ����������	��
� Laplace ��� �	�������� -
�����	�� ��$���� ������ ��	 ���

�����	� ��� ����������	���� Fourier, �
 �
�	������������ 
��� s �� jω� +����� 	�	
�����

��� ��7�-� ���������� ������
 
� ������	����
 �� 	�	
����� ��� ��
������� ����������

��� s2�������� 4��
 �

���� ���� #� �%�������� �	� 	�	
����� ������

�� �� /	�	��
����

0 ������	�� ��
��	�� �

� �	�	���� ��7�-� ���������� ��
�	 ����
 �	� t < 0� 6��� ��
���	�

� ������	�� ��
��	�� ��
�	 ���� ��%	�� �������! ��
�� 	����	 �

• )���
�
�  � 0 ���	��� �����	��� ��� ��
������� ���������� H(s) �

� �	�	����

��7�-� ���������� ��
�	 �
� ��%� ��	��������

"�
 � ��
������ ���������� ��
�	 ����! � ���������
� 	�	
���� �%�	�	������	 �� �%��5

• )���
�
� #� �	� ��������� �� ���� ��
������ ���������� H(s)! � �	�	��
���� 	����2


���� �� ���	��� �����	��� ��� ��
�	 ��%� ��	������� ��%	
���� ��
 ��
 �	
 ��%	
 �
���

���������� ��  � /������� �� ������� �� ������	�� ��
��	��

h(t) = e−2tu(t). '(�))(*

"��	�� h(t) = 0 �	� t < 0 ��
������ 
�	 �� ������� ��
�	 �	�	��
� 0 ��
������ ����������

�����������	 �
�	��#	�� 
��� ��� ����������	��
 Laplace, ��� �%��#� ��� ��� +�����	�2

�� (�)! a = 25

H(s) =
1

s + 2
, Re{s} > −2. '(�)):*

4��
 ��������� ���� � H(s) ��
�	 ���� ��	 �����#�����	 � ��#
���� ��� D�	
����� ,�

���������� �� #� /������� �� ������� �� ������	�� ��
��	��

h(t) = e−2|t|. '(�));*



,; �� ��������	�
� �
���������
����

+���������� 
�	 h(t) �= 0 �	� t < 0� �-�� �� ������� ��
 ��
�	 �	�	��
� "��	�� � h(t) ������


� �
���#�� ��

h(t) = e−2tu(t) + e2tu(−t) '(�))@*

�
 �%	���	������ �� ����� ����������	�� 
 Laplace ��� +�
��� (�) ����
����

e−2tu(t)
L←→ 1

s + 2
, Re{s} > −2 '(�),=*

e2tu(−t)
L←→ − 1

s− 2
, Re{s} < 2 '(�),)*

��	 ��������	 � ��
������ ����������

H(s) =
1

s + 2
− 1

s− 2
=
−4

s2 − 4
, −2 < Re{s} < 2. '(�),,*

"����
��! � H(s) ��
�	 ���� ��	 ���	 ���	��� �����	��� ��� ��
 ��
�	 ��%	
���� ��� �	
 ��%	��

�
���� &� ���������� ��
�	 ��
���� �� �� ����

� 
�	 �� ������� ��� ��
�	 �	�	��
�

0 ���	��� �����	��� ��� ��
������� ���������� H(s) �

� �	�	���� ��7�-� ����������

��
�	 �
� ��%� ��	�������� &� �
������$� ��� ��
�	 ���A �
���� ���#��� 8	� ���	��� �����	���

��
������� ���������� ��� ��%	� ��� �	
 ��%	�� �
��� ��
 �������	 
�	 �� ������� ��
�	

�	�	��
! ���� �

� 
�	 ��
�	 ��%	�� ��������

���������� �� &� �"��� � ��
������ ����������

H(s) =
es

s + 2
, Re{s} > −2. '(�),.*

0 '(�),.* ����	����	 
�	 � ������	�� ��
��	�� h(t) ��
�	 ��%	�� �������� +������	 ��
 ��


e−2tu(t)
L←→ 1

s + 2
, Re{s} > −2 '(�),1*

�� ��
���	� ��� 	�	
����� ��� �����
�	��� ��� ��

� ��������	 � H(s)

e−2(t+1) u(t + 1)
L←→ es

s + 2
, Re{s} > −2 '(�),3*

��
�� � ������	�� ��
��	�� ��
�	 h(t) = e−2(t+1) u(t + 1) ��� ��
�	 ��
 ��%	�� �������! ����

��2�	�	����

�"
� ������� ������	 ��
��
��
� (anti-causal), ��
 h(t) = 0 �	� t > 0� 0 ���	��� �����	2

��� �

� �
��	�	���� ���������� ��
�	 �
� ��	����
 ��	�������� -
 � ��
������ ����������

��
�	 ����! �
�� � ���	��� �����	��� #� �����	 ��	����
���� ��� �	
 ��	������ �
����



�� ��������	�
� �
���������
���� ,@

�� �� 0'���1�	�

�"
� ��7�-� ��
�	 �����#�� 
��
 � ������	�� ��� ��
��	�� ��
�	 �������� ������� �	���

"����
��! 
��
 � ����������	��
� Fourier ��� ������	��� ��
��	��� ��
�	 ��� � ��	���
���

��
�� 	����	 �

• )���
�
� &� �"
� ��7�-� ������� ��
�	 �����#��! 
��
 � ���	��� �����	��� ��� ��
��2

����� ���������� H(s) ���	�����
�	 ��
 jω �%�
��

�	� ��
 ��%� ��
 �	�	�� 
 ��7�-� ���������
 ��� ����
 ���� ��
������ ����������! �

�����#�	� ��� ���������� ��������	 ������ �%�����
��� ���� �
���� ��� ����������� &
��

� D�	
���� . �%�	�	������	 ���


• )���
�
� *� �"
� �	�	��
 ������� �� ���� ��
������ ���������� H(s) ��
�	 �����#��!

�
�� ��	 �

� �
�� �
 
��	 �	 �
��	 ��� H(s) ���
��	 ��� ��	����
 s2��	�������! ������


��
 
��	 �	 �
��	 ����
 ��
��	�
 �������	�
 ������

���������� �� *� �"��� ��7�-� ������� �� ������	�� ��
��	�� h(t) = e−t u(t)−e−2t u(t)�

-
 �
����%���� ��� +�����	��� (�3 �
�� � ��
������ ���������� ��������	

H(s) =
1

(s + 1)(s + 2)
, Re{s} > −1. '(�),(*

&� ������� ��
�	

• ��
��
�! ���	�� � ���	��� �����	��� ��� ��
������� ���������� ��
�	 ��%	
���� ��� �	


��%	�� �
��� ��	

• �	�
����! ���	�� � ���	��� �����	��� ��� ��
������� ���������� ���	�����
�	 ��


jω �%�
��

-
 � ��
������ ���������� ���


H(s) =
1

(s + 1)(s + 2)
, −2 < Re{s} < −1 � '(�),:*

H(s) =
1

(s + 1)(s + 2)
, Re{s} < −2 '(�),;*

�
�� �� ��$
����� �	� ���	�� ��	�! ���	�� � ���	��� �����	��� ��
 ���	�����
�	 ��
 jω �2

%�
�! ���$�	

����� 
�	 �� ��������� ���� ��
�	 ��
���� 4��
 '(�),;* �� ������� ��
�	

�
��	�	��
�



.= �� ��������	�
� �
���������
����

��� (
'�
����	
 ���������	
 ��� �
������������� Fou-

rier ��	 ��  �#������ �	�'�%�� 
���$�

� ����������	��
� Fourier �

� ������� ��
�	 � ����������	��
� Laplace ������	���
��

��
� ���
 jω �%�
�� 4��
 �

���� ���� #� ����������� �	� �	��	����� �	� �� �������	�


������	��
 ��� ����������	���� Fourier ��	 ��
	�
���� ��� ����������	���� Laplace ��

���	������� ������ ��� �	���	��� ��	����� ��
 �� �	������� �
��
2����
	� 
 ��� ��
�����	

�A �
� ��
� ����������	��
 Laplace. /������� �	� ��
���#�� ���	�� ��	�5

• <�����	��
� ����������	���� Laplace �A �
� ���
 ����
	�
! X(s) = s−a! �	� s = s1!


��� s1 �
�� �������	��
�� �	���	�
� ��	#�
�� 0 �	�� ��� ����������	���� Laplace

��� s1! X(s1) = s1 − a! ��
�	 �
�� �	���	�
� ��	#�
� ��� ��������	 �� �#��	��� ��


�	���	� 
 ��	#� 
 s1 ��	 −a� "��	�� ��#� �	���	�
� ��	#�
� ������ 
� �������#�� �A

�
� �	�
���! �� s1 − a! ��������	 �� �� �	�
�����	�
 �#��	��� ��
 s1 ��	 −a! ��
��

��
�	 �
� �	�
���� ��� �����	 ��
 �� ����
	�
 '������! �� a* ��	 ����
�	 ��� ������ s1�

&
�� ���$�
� �� �� 4���� (�( ������

����� ��� �	�
������� X(s1) = |X(s1)| = ����� s1 − a = |s1 − a| '(�),@*

$��� ��� �	�
������� X(s1) = ∠X(s1) = ��
�� ����%� ��� �	�
������� s1 − a ��	

��� �������	��� �%�
� = φ. '(�).=*

s1

s1−a

a

Im{s}

Re{s}
φ

4���� (�(5 �������	�� ����
��� X(s1) = s1 − a�

• <�����	��
� ����������	���� Laplace �A �
�
 ���
 �
��! X(s) = 1
s− a ! �	� s = s1�

6��A �
������ � �	�� ��� X(s1) #� ���	 �����

|X(s1)| = 1

|s1 − a| '(�).)*



�� ��������	�
� �
���������
���� .)

��	 $���

∠X(s1) = −φ. '(�).,*

• �"
�� ���
� ����������	��
� Laplace ������ 
� ��$������ ��

X(s) = M

∏R
i=1(s− βi)∏P
j=1(s− αj)

'(�)..*

��
�� � �	�� ��� ����������	���� �	� s = s1 �� ��������� ������2$���� ��
�	

X(s1) = |X(s1)|∠X(s1) '(�).1*


���

|X(s1)| = |M |
∏R

i=1 |s1 − βi|∏P
j=1 |s1 − αj|

'(�).3*

∠X(s1) =

⎧⎨
⎩

∑R
i=1 ∠(s1 − βi)−

∑P
j=1 ∠(s1 − αj), �
 M > 0

π +
∑R

i=1 ∠(s1 − βi)−
∑P

j=1 ∠(s1 − αj), �
 M < 0�
'(�).(*

"����
�� �� ����� ��� X(s1) ��
�	 �� ����� ��� ������
�� �������� M ��� �� �	

��
�

��
 ��� 
 ��
 �	�
������
 ��� ���
��	 ��
 �� ����
	�� ��	 ���������
 ��� s1 �	�

�� �	

��
� ��
 ��� 
 ��
 �	�
������
 ��� ���
��	 ��
 ���� �
���� ��	 ���������


��� s1� ������ � $��� ��� X(s1) ��
�	 �� �#��	��� ��
 ��
	 
 ��
 �	�
������
 ���

���
��	 ��
 �� ����
	�� ��	 ���������
 ��� s1 ����
 �� �#��	��� ��
 ��
	 
 ��


�	�
������
 ��� ���
��	 ��
 ���� �
���� ��	 ���������
 ��� s1 ��
 �
������
�� π

����
	�! 
��
 M < 0�

���������� �� +� �"���

X(s) =
1

s + 1
3

, Re{s} > −1

3
. '(�).:*

� ����������	��
� Fourier �������	! �	
�	 � ���	��� �����	��� ���	�����
�	 ��
 jω �%�
��

/���
��� s = jω �������� 
� ������������ �������	� � �� ����������	��
 Fourier, 
���

��� 4���� (�:�

�"�����

X(jω) =
1

jω + 1
3

'(�).;*

|X(jω)| =
1√

1
9

+ ω2
'(�).@*

∠X(jω) = − arctan(
ω
1
3

) = − arctan(3ω) '(�)1=*



., �� ��������	�
� �
���������
����

ω
jω+ 1

3

− 1
3

Im{s}

Re{s}
φ

tan φ=3ω

4���� (�:5 �������	�� ����
��� X(jω) = 1
jω+ 1

3

�


��� �� ����� ��	 � $��� ������
 
� ������	����
 �� ����� ��	��
�����	��� �
 ��	�� +�2

��������� 
�	 �� ����� ��� �	�
������� ��� �
��� ��%�
�	 ��

��
� ��# � ��%�
�	 �� ω!

��� |X(jω)| ����� 
���	 ��

��
� �� ��
 ��%��� ��� ω�

� �������	�
� ������	��
� ��� ����������	���� Fourier ����	����	 ���
 �������	��	��

�%����� ��
 ��
��	� 
 ��������	��	� 
 ���! �%	���	 
��� �	� ��������	��� 	�	
����� ���

������ ��	 ��� ��
��� ��
 �	�
������
 ��� ���
��	 ��
 ���� �
���� ��	 �� ����
	���

����� �����2�1�	� �'�������

0 ������	�� ��
��	�� �

� �������#�	�� ���������� ��	 � �
�����	�� ��
������ ����������

��
�	

h(t) =
1

τ
e−

t
τ u(t)

L←→ H(s) =
1

τ

1

s + 1
τ

=
1

sτ + 1
, Re{s} > −1

τ
. '(�)1)*

�"
� ����	� ��7�-� ������� ���	���$���	 ��
 �� �	�$��	�� �%�����

τ
dy(t)

dt
+ y(t) = x(t), y(0) = 0 '(�)1,*

�	� ��
 ����� 	����	 � ��
#��� ���	��� ������� x(t) = 0! 
��
 t < 0� 0 #��	�� ������2

�	�� ���#��� τ ��
�	 �
���� �� �
����� 
����	� �	� ��
 �	�� t = τ ����������� 
�	

h(τ) = 1
e
h(0)� &� 4���� (�; ����
�	 �� �������	�
 ������	��
 ��� ��
��	��� ���

��2

��� �

� �������#�	�� ����������� -�
 �� 4���� (�; ��
������ �� ��
���#� ��
��	��

��������	��	�� �	� �� �������� ��� H(jω) �� ���� ω5

• &� ����� |H(jω)| ��� ��
��	��� ���

�����! H(jω)! ������	���	 ���	��� 
��
 ω = 0�

• &� ����� |H(jω)| ��� ��
��	��� ���

�����! H(jω) ������	���	 ��#�	��� ������ ��# �

�� ω ��%�
���	�



�� ��������	�
� �
���������
���� ..

ω

− 1
τ

Im{s}

Re{s}
φ

4���� (�;5 �������	�
� ������	��
� ��� ��
��	��� ���

����� �������#�	�� �����������

• 0 $��� ∠H(jω) ��� ��
��	��� ���

�����! H(jω)! ��	 
���	 ��
 �� = ��� −π
2
��# �

�� ω ��%�
���	�

+������	

|H(jω)| =
∣∣∣ 1

jωτ + 1

∣∣∣ =
1√

ω2τ 2 + 1
. '(�)1.*

-
 ������������ ��
 ��$����

20 log10 |H(jω)| = −10 log10(ω
2τ 2 + 1)

≈ −20 log10 ω − 20 log10 τ, ω � 1

τ
'(�)11*

�
�� �� ����� ��� ��
��	��� ���

����� ����	���	 �� dB. +���������� 
�	 ��� ���

����

ω = 1
τ �� ����� ��� ��
��	��� ���

����� ��
�	 . dB ���� ��
 �� ���	��� �	�� ��� �	�

ω = 0� 0 ���

���� ω = 1
τ �
�������	 �	
��
�
� ��������� �	� ���

���� ��������	�

��� ���

����� �������� �� ����� ��� ��
��	��� ���

����� ��
�	

20 log10 |H(jω)|
∣∣∣
ω= 10

τ

∼= −10 log10 101 = −20 dB. '(�)13*

������ �������� 
� ���%���� 
�	

∠H(jω) = − arctan(ωτ)

≈

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 ω ≤ 0.1
τ

−π
4 [log10(ωτ) + 1] 0.1

τ ≤ ω ≤ 10
τ

−π
2 ω ≥ 10

τ .

'(�)1(*

�	 ���$	��� ���������	� ��� 20 log10 |H(jω)| ��	 ��� ∠H(jω) �� ���� ω �����
��	 ����

������
� Bode (Bode plots). &� �	��������� Bode ��� �������#�	�� ���������� ���



.1 �� ��������	�
� �
���������
����

ω

,=

lo
g

1
0
|H

(j
ω
)|(

d
B

)

2. dB

1
τ

10
τ

2,=

2)3

2)=

23

=

ω

∠H
(j

ω
)

1
τ

10
τ

2π2

2π4

=

'�* '�*

4���� (�@5 C	��������� Bode �������#�	�� ����������� '�* 8���� ��	 '�* >��� ���

��
��	��� ���

������

��������� ����	���
��	 ��� 4���� (�@! 
��� � ���

���� ω ����	���	 �� �����	#�	�� ��������

"������� ��� ���#���� ��

�� ��
�������	 ��%��� ��� ���

����� ��������! �	����
�� ���

������ � 
�� ��	 ������
���� ��#�
 �� ��� ��� h(t)�

����� 3�'����2�1�	� �'�������

0 ������	�� ��
��	�� �

� ���������#�	�� ���������� ��
�	

h(t) = M
[
ec1 t − ec2 t

]
u(t) '(�)1:*


���

c1 = −ζωn + ωn

√
ζ2 − 1 '(�)1;*

c2 = −ζωn − ωn

√
ζ2 − 1 '(�)1@*

M =
ωn

2
√

ζ2 − 1
, ωn > 0. '(�)3=*

0 ���������� ζ �������	 ����� ����'���� (damping ratio) ��	 � ���

���� ωn �������	

�������'������� �	���� �	
��
�
� (undamped natural frequency). �"
� ����	� ��7�-�

������� ���	���$���	 ��
 �� �����	�� �	�$��	�� �%����� �� ���#����� ��
��������

d2y(t)

dt2
+ 2ζωn

dy(t)

dt
+ ω2

n y(t) = ω2
n x(t), y(0) = 0 '(�)3)*



�� ��������	�
� �
���������
���� .3

�	� ��
 ����� 	����	 � ��
#��� ���	��� �������! x(t) = 0 
��
 t < 0� 0 ��
������ ����������

��
�	

H(s) =
ω2

n

s2 + 2ζωns + ω2
n

=
ω2

n

(s− c1)(s− c2)
. '(�)3,*

C	����
���� �	� ��
���#�� ���	�� ��	�5

-* ζ > 15 &
�� c1! c2 ��
�	 �������	��� �
��	! ��
�� �� ���������#�	� ������� ��
�	 �	2



��
� ��� �������#�	�
 ���������
� 4�� ����� ��� ��

�� � �
�����	�� ������	��

��
��	�� ��
�	 �	�$��� ��� ������
���
�
 ��#��	� 
� B��� 
�	 �� ������� ��
�	 	�

�������'������� (overdamped). &� 4���� (�)= ����
�	 �� �������	�
 ������	��


��� ��
��	��� ���

����� ��
 �� �	������� �
��
2����
	� 
�

+ +

ω

c1c2

Im{s}

Re{s}

4���� (�)=5 �������	�
� ������	��
� ��� ��
��	��� ���

����� ���������#�	�� ����������

�� �������	���� �
�����

+���������� 
�	5

-�)* &� ����� ��� ��
��	��� ���

�����! |H(jω)|! $#�
�	 ��

��
� ��# � �� |ω| ��%�2

���	� "����
�� �� ������� ���	 ��
$���'�
� ���
��	�� ������	$����

-�,* 0 $��� ��� ��
��	��� ���

�����! ∠H(jω)! �����
���	 ����%� = '�	� ω → 0* ��	

−π '��# � �� ω →∞*�

-�.* 6�# � �� ζ ��%�
���	 � �
�� �
��� ����	���	 ��
 jω �%�
� ��	 � ����� �
���

��������
���	 ���
 ��
��	�
 ��	�%�
� ��
 �������	� 
 ��	#� 
� � �
��� ���

��
�	 ��
�� ���
 jω �%�
� �
�	���	��� �A �
� �����	����
 �������#�	� �������

�� ������ ���

���� �������� ��	 ���� ��
����� ��� ����� ��� ��

�� '������

���#��� ��

��*� � �
��� ��� ��
�	 ����	� ��
 ��
 jω �%�
� �
�	���	��� �A �
�



.( �� ��������	�
� �
���������
����

�����	����
 �������#�	� ������� �� �E��� ���

���� �������� ��	 �������

��
����� ��� ����� ��� ��

�� '�	��� ���#��� ��

��*�

-�1* �	� ζ � 1! � ��
�	

� ��� jω �%�
� �
��� �����	 ��
 �������
	��	�
 �
�� ���


�����	����� ���
��	�� ������	$��� ��� ����������! ���	�� �� ����� ��	 � ��
��

��� �	�
������� ��� �����	 ��
 ���

 ��
 �
�� ��
�	 �	
 �����#��� �� ���������

��� ω ��A 
!�	 �� ����� ��	 � ��
�� ��� �	�
������� ��� �����	 ��
 ��
 ����	



�
���

/���
��� 
��� s = jω ���
 '(�)3,* ��������	 � ��
��	�� ���

�����

H(jω) =
ω2

n

(jω)2 + 2ζωn(jω) + ω2
n

. '(�)3.*

C	�	� 
��� ��	#���� ��	 ����
������ �� ω2
n ����
����

H(jω) =
1

(
jω
ωn

)2 + 2ζ(
jω
ωn

) + 1
. '(�)31*

"����
�� � ��
��	�� ���

����� ��#������	 ��
������ ��� �
��� ω
ωn
� 8��������
���

�� ωn 	����
���� �� ���
	�� ��	 ���
��	�� ��	�������

H* ζ = 15 &
�� �� ������� ���	 �
� �	��
 �������	�
 �
�� ��� c1 = c2 = −ωn ��	 �

��
��	�� ���

����� ��$�������	 ��

H(jω) =
ω2

n

(jω + ωn)2
. '(�)33*

7���	����	 
��� ��
 +�
��� ���� 
 ����������	�� 
 Fourier, ��������	 � ������	��

��
��	��

h(t) = ω2
n t e−ωn t u(t). '(�)3(*

B��� 
�	 �� ���������#�	� ������� ��
�	 ������� ����'������� (critically damped).

�* 0 < ζ < 15 0 ������	�� ��
��	�� ���
 ��������� ���� ����
�	 �� ���$�

h(t) =
ωne−ζωnt√

1− ζ2
sin(ωn

√
1− ζ2 t) u(t). '(�)3:*

B��� 
�	 �� ������� ��
�	 	������'������� (underdamped). 0 ������	�� ��
2

��	�� ������	���	 ������
���
�� ����
� ��	�� 0 ���

���� ��
 ����
� ���
 ��
�	

ωn

√
1− ζ2 ��	 ��
�	 �	��
���� ��� ωn� � ��#�
� ��
������ ��� ��	��
��	���� ����2


����� ��%�
���	 ��# � �� ζ ��%�
���	� 0 �����	�� ��
��	�� ������	���	 ����
� ��	�



�� ��������	�
� �
���������
���� .:

(ringing) ��	 �������� (overshoot), ������ �����
�	 �	��� ����������� ��
 ��
 ���	��

��� �	��� 4��
 ��������� ���� ������ �������� �	���	���� �
����! ���	�� � ������	��

��
��	�� ��
�	 ��
������ �������	��� �	���� &� 4���� (�)) ����
�	 ��������	�� ��

�	������� �
��
 �

� ���������
���
�� ���������#�	�� �����������

+

+
ωn

c1

c2

Im{s}

Re{s}−ζωn

−ωn

√
1−ζ2

ωn

√
1−ζ2

θ

4���� (�))5 C	������� �
��
 ���������#�	�� ���������� �� �������� �	���	���� �
�����

-�
 �� 4���� (�)) ����������� 
�	5

��)* �	� ζ �	��
! �	 �
��	 ��
�	 ��
�� ���
 jω �%�
��

��,* ����
 ω → ωn

√
1− ζ2! � �
��� ��� ������� ��������
�	� ����	����	 ��� ���
�2

�	�� ������	$��� ��� ����������� +���������� 
�	 � ��
�����

[
jω − (−ζωn + jωn

√
1− ζ2)

]
'(�)3;*

��
���	 ����	��� 
��
 ω = ωn

√
1− ζ2� +���������� �
�� �����$�� (peak)

���
 ��
��	�� ���
������ �	� ω ��
�� ���
 ωn

√
1− ζ2� 0 ����$� ��� ��
��	���

���

����� ��
 ������
�	 
��
 ω = ωn

√
1− ζ2! ���� �	� ���

���� ω ���$� �

�	��
���� ��
 ��
 �	�� ωn

√
1− ζ2! �
�� ��� ��������� ��� ����� �
����

��.* �	� 0 < ζ < 1! �� ���������#�	� ������� ��
�	 �
� ���������� ($�����'�
�

���
�� (non-ideal bandpass filter). 0 ���������� ζ ������	 ��
 �%����� ��	 ��

����� ��� ����$�� ��� ��
��	��� ���

������ 4��
� ����	����	���� ������ ��


��������� Q = 1
2ζ

��� �
�������	 �	�
����
�� ����
�
�� (quality measure).

��1* &� ����� ��� �	�
������� ��� �����	 ��
 ��
 �
�� ��� ������� ��������
�	� ��%�2


���	 ���� ������
��
√

2 ��
 �� �	��
���� �	�� ��� �
�	���	��� �� ω = ωn

√
1− ζ2


��
 �� ω ��%�
���	 ���� ζωn� 4�
�� � �	� �	��� ζ ��	 ��
� 
��� ��
 ��������



.; �� ��������	�
� �
���������
����

��� ����	
�� �
��� ��� ����� ��������
�	�! �� ����� ��� ��
��	��� ���

�����!

|H(jω)|! ��
�	 �
�
� �

� ������
�� √2 ��� ���	���� �	��� ��� ���
 ���
��	��

���	���

ωn

√
1− ζ2 − ζωn < ω < ωn

√
1− ζ2 + ζωn. '(�)3@*

&� ����� (%��� ��� ��
��	������ $������ ��
�	 2ζωn� 4��
� ����	����	���� ��

�
�
��� ����� (%��� B = 2ζ ��� ��
�	 �� ����� � 
�� �	� ωn� +����������


�	 B = 1
Q � &� ����� � 
�� ��%�
���	! 
��
 �� ζ ��%�
���	 � 	����
��� 
��
 �

��
�������� ��	
����� Q ��	 
���	! 
��� $��
���	 ��� 4���� (�),'�*�

ω
ωn

|H
(j

ω
)|

(d
B

)

ζ = 0.1

ζ = 0.4

=�) ) )= )==
2.=

2,3

2,=

2)3

2)=

23

=

3

)=

)3

,=

ω
ωn

∠H
(j

ω
)

π
(r

ad
)

ζ = 0.1ζ = 0.4

=�) ) )= )==
2)

2=�@

2=�;

2=�:

2=�(

2=�3

2=�1

2=�.

2=�,

2=�)

=

'�* '�*

4���� (�),5 C	��������� Bode ���������#�	�� ���������� �� ��
��	����� ������	$����

'�* 8���� ��	 '�* >��� ��
��	��� ���

������

��3* 6�# � ������������ �� ζ ���� 
��� �� ωn ���#��
! ���	�� ζ = cos θ! �	 �
��	

�����	
��
��	 ��
� �A �
� ��	����	� ����
�� ωn� 6�# � �� ζ ��%�
�	 ��
 �� = ���

)! �	 ��� �������� �	���	��� �
��	 �	
��
��	 ��� ��	����
 s2��	������� ��
� �A �
�

��	����	� ����
�� ωn�

��(* 8��������
��� �� ωn ���� 
��� �� ζ ���#��
! �� ������������ ��� ���������
��

��������� ������
��
 �%���� ������! ���	�� �� ����� ��	 � $��� ��� ��
��	���

���

����� �%��� 
��	 ��
 �� �
�� ω
ωn
� 6�	 ���
 ��������� ����! � ��
��	��

���

����� ��
���	 ��
 ��
 '(�)3.*�

��:* �	� ζ → 0 � ����$� ��� ��
��	��� ���

����� ��
�	 �%��� ��	 �� ����� � 
��

��
�	 ���� ���

� "����
�� 
��
 � ��
�������� ��	
����� Q ��%�
���	 �� $�����



�� ��������	�
� �
���������
���� .@

��#������	 ����
� ��	 �	� ��	����	�
 ���
�����
�

C* ζ = 05 �	 �
��	 ������
��	 ��
� ���
 jω �%�
� ��	 ��� ����� ��� ��

�� � ������	��

��
��	�� ��
�	 ��	��
��	��� ����� ��
�����! ������

h(t) = M [ejωnt − e−jωnt] = 2jM sin(ωn t). '(�)(=*

0 ��
��	�� ���

����� ��
�	

H(jω) = 2Mπ[δ(ω − ωn)− δ(ω + ωn)] '(�)()*

��
�� �� ������� ��
�	 �������'������� (undamped) ��	 � ���

���� ����
�����

��
�	 � ωn�

����
 � ��
��	�� ���

����� ��
���	 ��
 ��
 '(�)3.*! �
�� �	� �� ����� ��� ��
��	���

���

����� 	����	

20 log10 |H(jω)| = −10 log10

{[
1− (

ω

ωn

)2
]2

+ 4ζ2(
ω

ωn

)2
}

≈
⎧⎨
⎩ 0 �
 ω � ωn

−40 log10 ω + 40 log10 ωn �
 ω � ωn�
'(�)(,*

�
 �	� �� $��� ��� ��
��	��� ���

����� ������

∠H(jω) = − arctan
( 2ζ ω

ωn

1− ( ω
ωn

)2

)

≈

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 ω ≤ 0.1 ωn

−π
2 [log10(

ω
ωn

) + 1] 0.1 ωn ≤ ω ≤ 10 ωn

−π ω ≥ 10 ωn.

'(�)(.*

&� 4���� (�). ��
�E���	 �� ������	$��� �

� ���������#�	�� �����������

����� #�������� �'�������

4������
� (all-pass) �������	 �� ������� ��� ���	 ��
������ ����������

H(s) =
s− α

s + α
, Re{s} > −α, α > 0 '(�)(1*

��
�� � ��
��	�� ���

����� �

� ����	�� ���������� ��
�	

H(jω) =
jω − α

jω + α
. '(�)(3*



1= �� ��������	�
� �
���������
����

σ

ω

ωn

+ +
−ζ ωn−ωn

√
ζ2−1 −ζ ωn+ωn

√
ζ2−1

ζ>1 ζ>1

+
2

−ωn

ζ=1

+

+

ωn

√
1−ζ2

−ωn

√
1−ζ2

−ζ ωn

0<ζ<1 +

+

ωn

√
1−ζ2, ζ→0

ω→ ωn

√
1−ζ2, ζ→0

+

+

ωn

−ωn

ζ=0

<���������
���
� '6����	����
*

6���	�� ������
���
� '6����	����
*

<��������
���
� 'I�
��	����
*

4�
��
	��
� �	� ��������� �	������

8�2������
���
�

4���� (�).5 4�����	$��� �

� ���������#�	�� �����������



�� ��������	�
� �
���������
���� 1)

+ ��

ω

α−α

Im{s}

Re{s}
φ1

φ2

4���� (�)15 �������	�
� ������	��
� ��
��	��� ���

����� ���������� �����������

� �������	�
� ������	��
� ��� ��
��	��� ���

����� ��� ���������� ���������� ����
���	

��� 4���� (�)1�

-�
 �� �	������� �
��
2����
	� 
 ��� $��
���	 ��� 4���� (�)1 ��	 ���	��	 ��	� �
 ��	�

��	��
�������� ��������	 �� ����� ��	 � $��� ��� ��
��	��� ���

�����5

|H(jω)| =
|jω − α|
|jω + α| =

√
α2 + ω2

√
α2 + ω2

= 1 '(�)((*

∠H(jω) = ∠(jω − α)− ∠(jω + α)

= arctan(
ω

−α
)− arctan(

ω

α
) = π − arctan(

ω

α
)− arctan(

ω

α
)

= π − 2 arctan(
ω

α
) '(�)(:*

� ���	 � ∠H(jω) = ϕ1 − ϕ2 = (π − ϕ2)− ϕ2 = π − 2ϕ2 
��� ϕ2 = arctan(ω
α
)� &� ����� ��	

� $��� ��� ��
��	��� ���

����� ����	���
��	 ��� 4���� (�)3�

ω
α

|H
(j

ω
)|

23 21 2. 2, 2) = ) , . 1 3
=

=�,

=�1

=�(

=�;

)

ω
α

∠H
(j

ω
)

π

23 21 2. 2, 2) = ) , . 1 3
2)

2=�;

2=�(

2=�1

2=�,

=

=�,

=�1

=�(

=�;

)

'�* '�*

4���� (�)35 -�
��	�� ���

����� ���������� ����������� '�* 8���� ��	 '�* >����


